FIRST MID TERWM EXAIVHNA’M@N 2022

1@ STD | MA’IHS Jime: 120 Hrs
! ; Marks : 80

_ | PART - A
i Choosethe correct answers, | | 7X1=7

et n(A) = m and n(B) = n then the total number of non empty relations
that can be defined from Ato B Is

Ca)mr b) nm U TRYe-1 d) 2™ '
2. Xfn(AXB)=12and(A)={1,2 3}thenn(B) s . o
L B LR b) 4 £ -~6)b : d) 2

o L {(af 8), (6,b)} represents an identify function, t hen the value nf aandb
are represents

‘a) (8, 6) (8,8 06 50 {5»51

4. GivenF-lF—BandF—F'+F“thenFls | :
¢ ) fix IR, b) 5 . ¢)8 P d) 11

5. The sum of the exponents of the prime factors in the prime factorlz“ Mon of |
1729 s . Wbt e v
1T R by 2 b ey AR d}4

6. An AP conslsts of 31 terms. If !m 16‘*‘ tarm B m then the surﬂ of all the’
terms of this AP Is

a)16m b} 62m g3m Q) % m
7. A system thren linear equaﬁans in three variables is Inconsistent If thalr
" planes :
a) Intersect only at a paint -- b) Intersect in & Ilne
, c) co!nddes with each oﬁ'eer d) do not Intersect-
o i PART.- B |
I i) Answer any five questions. '

-annamberl#mmwﬁsnw; ot gl . 5)(2 10

: 8. HBXA={(-2 3), (-2, 4), (0, 3), (0, 4). (3:3): (3, 4)} ﬂnd&andB
g, Shaw that function f ! —+N deﬁned by f(x) zx 1is on »ane but not

onto, - | v o
10. Represent t‘he functlon f{x) = ,‘fzf 5“.3 as a composltion of two
fundjans S

. 10- STDHATHS Page ,



Ha wants to arrange them, In rows such that

11, A man has 532 flower pots. j
pots, Find the number of completed rows and

each row contalns 21 flower
how many nﬁwer pots are left over

12, Flnd the sum & 341+ 34 L,

i 0x! +81x
13. Simplify : W
a) IfA {2, -2, 3} and B - {1, 4} then find A¥ BandBX A. fﬂﬁ)

1,
) Find the first four térms’df the sequences whose n* terms is an = n*-2,
PART - C ;
5% 5= 25

I1i i) Answer any five guestions.
i1} Question number 21 compulzory.
letA={xeN /1<x<4} Be{x ¢ w/ 0 <x<2}and

C={x e N/x < 3) then verify A X (B UC) = (AX B) U (AXC).
LetA={1,2 3 4}andBn{2 5,8, 11, 14}betwosetslet f ﬁu—bﬂbe
a functions glven by f(x) = 3x - 1 rcpreaent the function. . e
© ity as set of ardared palr

) by arrow diagram I} Ina table form

Iv) In 2 graphical form. .
17, IFF(X).= x -1, g(x).= 3x + 1 and h(x) = )2 then verify (fog) oh = fo{goh)
18, If ning times ninth term Is equal to thﬁ fifteen times ﬁﬂ.eenm tarm, show

" ghat sl imes twenty fourth term Is 28r0.

19, Findthesumoftheseﬂesﬁw?uﬂw
x‘ x+2and2x”-5x2+5x 3

20. Find the GCD of the f(ﬁlowlngs x’

: . 2x4+7, x<-2

d) If the fonction f 1 RyR_[§ defined by f(x) . i -25:;3
h— .x _'

e SR
f4y W)f-2) R f{4) + zrm W) = reay -
b) Find the sum to n tem‘us of the series 54 55+ 555 s

PART - b ' "4
v Amwsranyma of the following.
- 22. a) Draw the graph of xy = 24, X, > 0 uslng the graph ﬁnd

' i}ywheﬂxw.’iandil)xwhanynw@ﬂ}
b) Construct a triangle similar to a given tilangle PQR with ttﬂ

7/4 of the mrrespanding sldes of the tﬁangle PQR (scale m ?,!4':& 1)
e | m sm mma Paga £2

15.

16.

ttttttttttt

21,

IXB 8_.-
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